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(C) 312
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(B) 224 o
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is called

(A) Cost-push inflation

(B) Noinflation

(C) Demand-pull inflation
(D) Deficit-induced inflation

If (x = 1) is the
P’ —q(x+1),
(A) p=2q

(C) 3p=2q

3L H.C.F. of (x2

-1)a
then )and

(B) g=2p
(D) 2p=3q

x 7@ AGP Stands for
>z (A) Accelerated Graphic Pen

®  (B) Advanced Graphics Port

(C) Accelerated Graphic Port
(D) Advanced Graphics Pen

33. Most of the economies are
(A) Mixed economies
(B) Socialist economies
(C) Capitalist economies
(D) Communist economies
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N dthof fringeonscrest - T (55=3) St et 4 mim 2, i 77y 5
I e between screen and sl W ofta 7 3
W a1mm (J (A) 0.1 mm (8) 1cm
s O (€ 0.1cm (D) 1m
ic) 0. o the information that the CPU 39. 39 T YR T 2 R
—— iy workingon. FEREA | i
< : (8) Registers (A 2
W Control Uit T D ) T (8) o
() Output Unit (C) T saré (D) T 337
redthe dst2 lg]nggb:hoevsuﬁaon:.based on it (:% ™ e o F 3 3 7 s

i snswer the followi o \ TH FIWD
7 houses in a road !

5 ﬁfdf;g f%c'i:nagnedag.ageis sitting to the right P ASH WA, B, C, D, E, F 3R G am = &
o . B is one of the corners and E is his STt e @HR AR IC, DFHaARIL, B
neighbour. G is in between Eand F and D is T foh W 8 3R E sm wert R 1 G, £ o
third from southend. _ F%ﬁﬁaﬁ%w?ﬁmﬁaﬁtﬂ?ﬁmil
D is 2 neighbour of which of the following DR 33— IR F TS 2 ?
pairs ? ' 3
IA) CE (8) FC (A) CE (B) FC
() AC (D) GB (C) AC (D) GB

. TheFirst Chemical Examiner’s Laboratory was | 41, YY" TERME Siawdl Sammen 1853 #
established in 1853 by the Government of TIHR T A1 <t 1§ |
(A) Delhi (B) Gujarat (A) g (B) TSI

(C) Hyderabad (D) West Bengal (C) gt (D) qfvem s
+ Whois the current Cabinet Secreta ' F ado e e aR E ?
f ofindia? | 42. ¥Id !
‘(3 AL Sale) Pk Shha (n) et s (8) .. e
& aJl:(;auba (D) None of the above (c) el e 3(;) mﬂ;iﬁ#ﬁ
Out the incorrect matepi RYAI 3 H qafi T
mic Powe ing related to | 43.
~  Uttar pradesh Al 7 g:tm
s ar Prades e
> ufrat e
Andhra pradesh 18" B SR
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74. Homo sapiens belongs to the Fami|

(A) Hominidae (B) Holinigaq

(C) Hissidae (D) None o4y,
| ‘ o ‘Ihn\ ¥
75. A man rides at the rate (o 18 k, ”

stops for 6 mins to chanpe horse
of every 7" km. The time thy |-
cover a distance of 90 km jg ake tg

(A) 6 hrs 18 min, (B) 6 hrsoa
mi
(C) 6 hrs (D) & hrs 19 rni:.

76. UNEP announced the eradic
pollutant from the world a5 Alge
country to use exhausted its sup
(A) Un-leaded petrol

5S¢

ation of 3
2 ~the Jast
plies. It js
(B) Leadeq petrol

(C) Coal (D) Coal tar

77. Who was called as the Father of Anatomy ?
(A) Aristotle (B) Hippocrates "
(C) Herophilus (D) Ptolemy

78. There are two numbers such t
of twice the first and thrice the :?t-:actotn'.ldeis5 L1”;i.{1
while the sum of thrice the first and twicé
the second is 17. The larger of the two is
(A) 12 (B) 8

(C) 6 (D) 4 g‘%
79. , popularly known as B

all-in-one printer, is a device that
consolidates the capabilities of multiple
devices in one machine.

(A) Laser printer (B) Drum printer
(C) Hydra printer (D) Inkjet printer

80. India’s first Pan-India helpline for
senior citizens is
(A) Elder line, 14567 (B) Elder line, 14765
(C) Elder line, 14647 (D) None of the above

81. Chronic liver damage is called '
(A) Cirrhosis (B) Lardosis

(C) Poikalosis (D) Lamb05.|5 e
is a World wide Web inte

-mails
that allows users to read and write €
using a web browser. |
(A) E-mall (8) webmal e

(D) Noné of thes

82.

(C) Outlook express Sias

74,

75.

76.

77.

78.

79.

80.

81.

82.

CMMS"SI
P ffreg a1 e e TEm AR
(A) Afufig (B) IS
(c) fefid (D) 39U & & s 7%

ua el 18 féﬁlﬂ/W 'rﬁET@ RRAURS
k. Mgl 7%:};3:{?{15‘11373%33@%%!1
6 firz % fore %9 a1 & 1 90 Pt iy 76t oy

e i T TN AR
(A) 672 18 firTe (8) 6772 24 firge

(C) 652 (D) 62 12

UNEP 3 faza @ T S % I ) sl oy
3 i STesAf - S WA FE A sifg
3o s syl B E w o R
(A) drentfEm ag=  (B) HiEgE W
(C) el (D) 2R

it T e & o R e A R 7
(A) aTfeeeied (8) fedrshza

(C) BUfhera (D) eierdt

et < weard € o6 weeht & I ofv qul & i
T %1 31 18 B, Sefh TEdd & i T of gm
FARF A 17 B I3 E A ah v d

(A) 12 (B) 8
(C) 6 (D) 4

—3-a & AW\ =
Hﬁ%ﬁ#ﬁ%ﬁmﬁﬁwmﬁ
(A) a1 firem (B) 3 frx o
(C) =3eT fifex (D) 3 e
WA T Ty T qmiiet ¥ o sfae
M et @

(A) TS TS, 14567 (B) Uret AT, 14765
(C) W= AT, 14647 (D) IT0aq 3 A T

Auiafis 79q iy

(A)ﬁim 5 FEATAT S |
(C) TR (D) Jm=em
———— F TR AR A TR, N
S i e gy e A §-0
i st am W

& Download SSC CGL, CHSL E-BOOKS e



https://sscportal.in/study-kit/constable-gd
https://sscportal.in/ebook

Get SSC Study Notes at : https://sscportal.in/study-kit/constable-gd

inal ¢

s rat

¢ the ,;‘:-_»,[ of 1he Ik
T 1

(8) 1 8
||"'] 81

on ﬂnn.ap.\lll‘ die
ln] S[ l“.’ﬂ
(D) Nile

o did Napol€

. H(\’l("ﬂa
(A} St

(C statements about

in

ger the f.ol_Tow uiliﬁcaﬁon to contest
L e gcation idhana Sabha.

1 i:gSabt"‘a‘amjVi ification fi
on of LO o stional qualification for
mere is N0 ECE S _a MP or an MLA,
ycational qualification will
majority of the citizens right
¥on in India.
the right option giveﬂt RElow
o - ment | is correc
(a) The state

is correct
he statement I11s €O
% ;:g"r the statements | and Il are correct

i) Both the statements | and Il are
incorrect
i ancient times the term Urvara Was used
1 indicate
4] Fertile soil
(C) Waste soil

(B) Sterile soil
(D) Sandy Soil

.. Notochord present in
\A] Non-chordates
{C) Both (A) and (B)

(B) Chordates
(D) None of these

=

hiréin 270 meter long is runnin
g at a speed
o 36 km per hour, then it will i
/ cross a brid
oflength 180 metres in e

(
g ig‘e" (8) 35 sec.
. e (D) 45 sec,
mgﬂi:l Treaty of Versailles yas signed ?
10 1529 (‘g; :919
. 935
:f:ntly, the State
" Ppiness Index” g 4 come up with
| Kﬂrnataka paftf‘nent is
0 Kera)s (4

Downlbad SS

Pl

84,

86.

87.

89.

90.

- (C) ;?i:fli"-}_T

1'-\,'

tMMs - 54

¥ T
. Tty 4211 » bord

(€)1

ST qmird o)
(A) &z

T fNem P ¥ a0 2 mm*hﬂ
formm =t | *W‘*ﬁnfaﬁaamq

. Wmmﬁmﬁ%m
forg 4 3 e
I, ﬁﬁwﬂ“mmtl

(B) o || 5t 3
(C) 2 e | 3 1) e 3
(D) = 1 3 11 3 et =

TR %76t # 347 152 37

F ot 3w R s o 7 R
(A) 39T fgh (8) Fww figh

(C) srgwga furgh (D) Yefieh firdt
w\aﬁmﬁtﬁw@mﬁm?

(A) TR-HisTH (B) Hidzw

(C) (A) SR (B)FHT (D) T @ #YE 7e

88. 270 i T WF 37 36 fomit why 2
e & = W@ R, A 97 180 e T H
ISASENCTERECR A E Ty
(A) 50 ¥hs (B) 35¥%e
(C) 408F8 (D) 45 %S

Faty & wft W Fa wenaw figm ?

(A) 1918 (B) 1919
(C) 1920 (D) 1935
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01.

92.

93.

95.

anguage

english -
~question, a sentence has

In the folpwlnig}eﬂ/mdir{‘(‘.l SRRV
given " slternatives, select the one
jven 5505 the same sentence in

srr;:ci speech.

- ed sadly that he was undone,
’”Td #Alas ! | have been undone”,
:ld' uplas | He is undone”,
za d: uplas | He was undone”,

5id, “Alas ! 1am undone”.

(D) Nayans ,

: or or idiomatic
t You have to find out
of the sentence and

rnto
thal. Fe abet of that part

choose the alph
as answer.

He was discharged as there was no proof
against his guilt.

(A) He was discharged

(B) as there was

(C) no proof against his guilt

(D) No error

In the following question, you have to
give the suitable words for the homes or
habitats of the noun subjects from the given
choices.

Hens or fowls are kept in a

(A) barracks (B) coop

(C) hole (D) den

Choose the Antonym of the given word.
DEXTEROUS
(A) awkward

(C) discord {B) Jery

(D) extravagance

::g in the blank with appropriate adjective

He is —___than his brother.
:2)) elder (B) eldest
older (D) oldest

=8 arqy

96. ¥
(A) Toreht

(B) Tapeft

(C) sFerareret

(D) 37 @ I3 7

. GRS A Fed Ay
FETd & | ’
(A) Tt
(8) ¥5q
(C) @ve
(D) &t

98.
|, #EAE
(A) I3
(B) 9T
(C) i

(D) 574 @ 1§ 7

AqY: + ﬂﬁ'f = Sil'f-ﬂ'!]ﬁ"
AT |

(A) s

(B) Tt

(C) &=

(D) ¥ A #$ 7

C
M%~&

&
" .ij

TN

e 35 8 R W ) P o

wus

100. R 3 w1 ey @), R i

(A) ufeq
4F (B) srfe
-

(D) Fﬁﬁaﬁ‘rgqﬁ
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